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I Continuation of discussion re: n¥np and a “sitting »53”
a  ~27 n¥np from a “sitting *93” is valid; per P12 ;190; and nman VIp in a “sitting *95” is valid — per p>1a 9O
i Query: is n¥np into a “sitting *92” valid?
1 Lemmal: do we infer from nmn — valid
2 Lemma2: do we infer from o7 - invalid (07 n%ap% *5 must be held by 1)
ii  Answer: we infer from o7 (2invalid)
1 Challenge: X171 (vs. 1) ruled that pmp in 2 0’93 is valid, unlike o1
(a) Answer: R271 changed his mind and agreed that we infer from o7
b  Tangent: source for o1 being invalid if received in multiple 0%
i Per: 98w 12 8naYn "3, who ruled that re: N9 TR 179 such an amount is Y1p RY
1 Question: can we apply this to o7 as well?
(a) Lemmal: it may be a (n"n%n) 8n2%n, and we cannot use that as a model
(b) Lemma2: that ruling is based on v. 2 — ona Yawv, parallel to v. 3 — 072 Yav)
2 Answer: ruling that it is also invalid re: o7
ii ~ Rma (quoted by Ka1) explaining v. 2:
a. 91v1 > must dip, and not sweep (along sides of 53 for oT)
b. ©T1-> must have enough o7 for n%2v from the beginning (excluding n»1w from his fingers
c. o1 in > the 7 mentioned (and not 01w — per X" who invalidates use of ya¥xa nTn »”V)
i. Justification: without 071, 8”10 that %201 has no MYw; without Y201, 8*10 he could “sweep” to get 07
d. Challenge to ¥”7(nny " quoted to 14, his teacher) — Xn»1a states that if he was performing nxon »n nxri and it
sprayed from his hand — ©12°3 17v; if he had completed mxtn — no requirement
i. Assumption: before he finished, requires v122; if he finished — doesn’t require
ii. Rejection: means — if it had already left his hand, requires; if had already left his hand — no need
iii. Challenge (»an): once he finishes 7 mrtn, wipes hand on n1a (v. 3) = if he didn’t finish, he doesn’t
1. Meaning: 0w are valid — contra R™
2. Rejection: inference - before finishing all 7 mrtn, wipes finger on rim of pam (per v. 4)
e.  Challenge (to notion that 8”1 infers from o7): dispuste 8™1/11nv "1 whether 3”3 'n’an can be brought in halves
i. 71 it may be —and he doesn’t infer from o7 (which isn’t w117 if received in 2 mo)
ii. Proposal: X" doesn’t infer from one nTay to another
1. Rejected: he infers that n¥»np may be done in 3’0 from 2’12 ;Y0
2. Defense: he allows inference of nmn from nmin, but not nman from o7
3. Challenge: he doesn’t infer nnan from nmn; per his allowance to burn n»21a if nan onY
broke apart before the 1170 was removed, as long as the time had come
a. Explanation: he doesn’t infer from regular nmn (can’t be offered if nx¥mp »4a% qon)
4. Defense: since this ymp is pre-set (in 711), considered “after ymp)
5. And: "™ must hold like 7" that if the n»7’w are lost after n¥mp, can burn the ymp
I Analyis of dispute 8"1/7" about sanctifying ¥ 1179y of 3" »n>an (above)
a  NnN “1™'s source — v. 5 — called nmin, then divide it up
b Challenge (to 5”): clear ruling to bring full 1wy, then divide it
i Defense: that is for the ideal mxn, but not indispensible
ii  Block: this offering is referred to as a pn (v. 6) >every detail is indispensible
iii ~ Rather: that ruling means that he must bring a full "7 from his house, doesn’t address issue of 17wy *xn VTP
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¢ Challenge: 30y '7’s ruling in case of committing to an 1wy, but bringing a half and intending to add
i 27 invalid vipn
ii g 7y valid w1pn
1 Explanation: if > holds that Y2 11wy isn’t w11p, should invalidate here as well
2 Proposal: perhaps > doesn’t infer one nnmin from another
3 Rejection: »™ rules that if 0'n%w were slaughtered in 50, that is valid — per v.7:
(a) Reasoning: if n”} nna is valid, certainly inside Ty nx is valid
(b) Defense: he holds that intent to add is different, per v. 8:
(i) oA5m implies complete — but >0y "7 adds that that is only if he didn’t intent to add
1. But: if he intends to add (to complete the 11pWw) each bit is w1Tp as it enters the 53
d  Question: what would 17’s position be re: 3" »nan?
i If he holds like 8™ (valid if done in halves) — then he should infer from that and allow 9>01n% 1mnyT
1 Proposal: perhaps 11 doesn’t infer from one nTay to the other —
2 Rejection: 11 rules that a nnan which is sanctified without nw, without n111% or without either is valid
(a) Without ppw: since Dnan onY are valid
(b) Without 72125 since 0»av1 nmin don’t have n1na
(c) Without either: since X0 nmn has neither
ii  Rather: he must accept jan "1’s position about 3”2 'nvan — invalid if brought in halves
e  Revisiting 27's ruling: additionally, he rules that 1w alone and n111% alone are WYTp
i pw from yMxn Y P N
ii 735 from N1’ brought with oan onb
iii ~Dissent: X1 "1 doesn’t allow for modular wy1p —all required ingredients must be there
1 Challenges: to Ryin "v's approach, that all ingredietns must be in »>
(a) 7wy why did they anoint the n1wy-measure
(i) Answer: for RN NN
(b) % why is the nY-measure there
(i) Answer: for y11x¥n Yv Y NY
iv. Note: YRnW agrees with 17: re: 1:0 ©Nar - 1757 »52. vessels used for measuring liquids only sanctify liquids
1 5xww. only applies to measuring v essels; but mpatn are w1pn even dry (flour) per v. 4
2 challenge: a nmn has liquid (oil) in it
(a) answer: reference is to the dry parts (even they are wTpnn)
(b) alternatively: nman (even with oil) is considered “dry” relative to o7 (pure liquid)
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